GCSE Geography

An Effective Guide to Revision
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Revision 1 2 3 

Stage 1 

Complete a revision audit. This means listing everything covered in your syllabus then deciding how much you remember about it. This will give you an idea of what areas you need to focus on (see page 4).
Stage 2

Once you have identified areas of weakness you need to start revising them. There are a range of techniques available to gather information for revision (see page 5). 

Stage 3

Take the test – practise your exam technique by completing past GCSE papers and questions (see page 46).
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Revision Audit

	Topics

(* indicates a compulsory topic)
	Response

(Please tick)

	
	Confident
	OK
	Unsure

	Natural Environments
	
	
	

	An ecosystem: The tropical rainforest*
	
	
	

	Glaciated Uplands in Britain*
	
	
	

	Limestone Scenery in National Parks in England and Wales*
	
	
	

	A drainage basin has inputs, transfers, stores and outputs influenced by human and physical activities. *
	
	
	

	Changes in the basin can have repercussions throughout the system*
	
	
	

	Farming in a system with inputs/processes and outputs*
	
	
	

	The Common Agricultural Policy
	
	
	

	The Green Revolution
	
	
	

	Farming changes the ecosystem but the effects are more drastic in some areas than others e.g. soil erosion & desertification*
	
	
	

	Crustal instability may cause problems for people as it is responsible for the occurrence of earthquakes and volcanoes*
	
	
	

	Extreme weather and climate conditions may pose problems for people (Topical Storms) *
	
	
	

	More money and leisure time have resulted in the increasing use of areas of great scenic attraction e.g. National Parks*
	
	
	

	Industrial activity bring social and economic benefits but also environmental problems e.g. Oil in Alaska*
	
	
	

	The environment can hinder economic development particularly in the case of primary economic activity e.g. Oil in Alaska*
	
	
	

	Urban Environments
	
	
	

	Urbanisation
	
	
	

	Landuse Models
	
	
	

	Landuse in towns and cities in LEDCs
	
	
	

	Landuse in towns and cities in MEDCs
	
	
	

	A comparison of the landuse patterns of a UK town or city with that of an EU large town*
	
	
	

	The role of the European Union in urban redevelopment*
	
	
	

	The impact of migration in the European Union*
	
	
	

	Economic Geography
	
	
	

	Employment can be classified in terms of primary/secondary/tertiary and the % of people in each group changes as a country develops. 

Countries can be classified in terms of economic development*
	
	
	

	Th location of secondary economic activities may be influenced by many economic factors e.g. iron and steel and the car industry*
	
	
	

	The location of tertiary activities in influenced by such factors as accessibility and the size of markets*
	
	
	

	Others:
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Everyone prefers to revise in different ways. Here a few techniques you should consider.

 Revision Cards

1. Make notes on an area of study. This could involve highlighting information in a revision book or writing information out. Grade C+ students avoid copying huge chunks of text. They read the information – then summarise it.

2. Once you have gathered notes summarise your notes on revision cards - blank postcards or post-it notes are good for this. You can then stick them all around your bedroom, toilet, bathroom etc!

3. Read your cards through regularly. Once you’re confident about knowing the information write key words about the topic on a card. Then revise from these. As your knowledge base builds up you will need fewer prompts to remember information.   

Mind Maps

A mind map is a spider diagram, which contains information in the form of pictures and text.  Mind maps can be used to plot information relevant to the different topics in geography.

Once you start revising make sure you record your revision. Complete the revision action plan on p.6/7 every time you revise a topic. 

P8-50 contain basic notes about each major topic you have studied. Use these notes, your class books and any revision books you have to complete your revision. There are questions at the end of each topic to help test your knowledge and understanding. If you complete these hand them to your teacher and he/she will be happy to mark them. 
Geography Revision Action Plan

Date of exams:

Paper 1 _____________

Paper 2 _____________

	Unit
	How many times revised?
	Case Study

(name relevant case studies)

	
	1
	2
	3
	

	Map Skills
	
	
	
	

	Key words and command words
	
	
	
	

	Economic Activity:
	
	
	
	

	· Employment Structures
	
	
	
	

	Location of Industry:
	
	
	
	

	· Types of Industry
	
	
	
	

	· Iron and Steel
	
	
	
	

	· Car Industry
	
	
	
	

	· M4 Corridor
	
	
	
	

	· Lucky Goldstar
	
	
	
	

	· The tertiary sector
	
	
	
	

	Leisure and tourism
	
	
	
	

	· National Parks
	
	
	
	

	· Honeypots
	
	
	
	

	Natural Environment:
	
	
	
	

	· Glaciation
	
	
	
	

	· Limestone
	
	
	
	

	Industry and the Environment
	
	
	
	

	· Alaska
	
	
	
	

	Population and Development
	
	
	
	

	Growth
	
	
	
	

	Change 
	
	
	
	

	Demographic Transition
	
	
	
	

	Migration
	
	
	
	


	Unit
	Revised?
	Case Study

	
	1
	2
	3
	

	Ecosystems
	
	
	
	

	· Tropical Rainforest
	
	
	
	

	· Problems in TRF
	
	
	
	

	Drainage Basins
	
	
	
	

	· Water cycle
	
	
	
	

	· Drainage Basins
	
	
	
	

	· Ganges/Brahmaputra
	
	
	
	

	Agriculture
	
	
	
	

	· Types/System
	
	
	
	

	· Rice
	
	
	
	

	· Green Revolution
	
	
	
	

	· CAP
	
	
	
	

	· Desertification
	
	
	
	

	· Soil Erosion
	
	
	
	

	Tectonics
	
	
	
	

	· Structure of the earth
	
	
	
	

	· Plates/boundaries
	
	
	
	

	· Volcanoes
	
	
	
	

	· Earthquakes
	
	
	
	

	· Case Studies
	
	
	
	

	Tropical Storms
	
	
	
	

	· Cause
	
	
	
	

	· Effects
	
	
	
	

	· Case study
	
	
	
	

	Settlement
	
	
	
	

	· Landuse
	
	
	
	

	· Landuse models
	
	
	
	

	· Urban growth
	
	
	
	

	· Shanty towns
	
	
	
	

	Migration
	
	
	
	

	· Types
	
	
	
	

	· Push Factors
	
	
	
	

	· Pull Factors
	
	
	
	

	· Case Study
	
	
	
	


Map Skills

All GCSE Geography exams contain questions relating to Ordnance Survey map extracts. Make sure you can use:

· Four figure grid references

· Six figure grid references

· Contours to work out height on a map

· Scale

· Map symbols and keys

· Compass directions

Also, make sure you can draw cross sections on a map.

 Economic Activity

Types of Industry
Jobs can be divided into three main groups:

· Primary – collecting or producing raw materials

· Secondary – making something

· Tertiary – Providing a service
Employment Structures

The proportion of people working in different jobs is called an employment structure.

LEDCs tend to have more people working in primary industry. This is because most people work in agriculture. 

NICs (Newly industrialised countries) tend to have a large proportion of people working in secondary industries. The % of the population working in primary industry starts to decline. This is because people move from jobs in rural areas to urban areas to work in factories as the industrial base develops. 

MEDCs tend to have more people working in Tertiary industry. 

	
	Employment Structure

	Country
	% Primary
	% Secondary
	% Tertiary

	Nepal
	93*
	3*
	3*

	Brazil
	40*
	36*


	24*

	USA
	2*
	32*
	66*


* Source – BBC Bitesize

Employment structures change over time. The graph below shows the changes in the UK over the past 300 years.
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Source – BBC Bitesize

What might the examiner ask?

1. Give definitions of primary, secondary and tertiary industries.

2. Give examples of primary, secondary and tertiary industries.

3. Describe and explain an employment structure.

4. Describe and explain changes in an employment structure over time.
Location of Industry

Introduction

There are many factors that affect the location of industry. The type of industry will determine which factors will influence the location. For example industries which use heavy and bulky materials will locate close to the raw materials e.g. an iron and steel works will locate close to iron ore and coal. If the raw materials are imported, a coastal location may be chosen. 
Iron and Steel 

Coal + iron ore + limestone = iron and steel

The Iron and Steel industry is influenced by access to raw materials:

· On coal fields

· On Iron Ore Fields

· On the Coast

Changes in the location of the iron and steel industry in the EU:

· What are the changes?

In the past iron and steel factories were located close to raw materials such as iron and coal. They are now mostly located close to deep-water ports

· Why have the changes occurred?

1. Raw materials have become exhausted. Raw materials are now imported from other countries.

2. Deepwater ports needed as raw materials are transported using bulk carriers

3. Close to water needed in the cooling process

4. Plants are now integrated

5. Governments and EU Policy has affected the location of modern steel works. 

Case Study = Port Talbot, South Wales

Car Production Sites in the UK

Location factors:

· Access to markets

· Skilled labour

· Foreign investment

· Government Initiatives

· Political Decisions

Case Study = Rover, Longbridge
Case Study = Nissan, Sunderland

High Tech Corridor in the M4 and Western Crescent

M4 Corridor – Area of development for Hi-Tech industry along the M4 Motorway spanning from London to Bristol (South Wales).

Location factors:

· Accessibility

Good road links (M4)

Good railway links

Heathrow Airport provides links to Europe and the rest of the World

· Research opportunities 

Close to science parks & Universities

· Footloose – therefore they can locate freely

· Government Incentives

· Attractive Countryside

Marlborough Downs – attractive environment favoured by educated people employed in Hi-Tech industry.

Case Study – Lucky Goldstar

Lucky Goldstar – Located a large development in Newport South Wales.

Why?

· Welsh Development Agency (WDA) secured the deal

· Government paid £180 Million in subsidies to LG

· Accessible – M4 corridor etc

· Semi-skilled labour force – once employed in the now decline Iron and Steel industry

What might the examiner ask?

1. What raw materials make steel?

2. How do they reach the steel works?

3. The importance of site requirements

4. Example of coastal/ore/coal field locations

5. Why have location factors changed in the Iron and Steel/Automobile industry?

6. What is the impact of economic change (growth and decline)?

7. What is the role of the Government in locating industry?

The Tertiary Sector

The concepts of threshold and range

Every shopping centre of service has its own threshold population. This is the minimum number of people who are in the market area to make the shop profitable.

A Porsche show room has a very large threshold population. This is because not many people in any area buy many cars.

A sweet shop has a small market area. This is because people buy sweets and newspapers regularly, so the shop can make a profit with a fairly small threshold population.

The range of a shop is the distance people are prepared to travel to visit a shop. 

Porsche buyers have a long range. People do not buy Porsche cars very often so they are prepared to travel a long distance. The sweet shop has a much smaller range. People will not travel a great distance to buy a newspaper.

What might the examiner ask?

1. What is the threshold population of a shop?

2. What is the range of a good?

3. Case study of a high order centre (e.g. Meadowhall)

Leisure and tourism

National Parks

Location and names of National Parks in England and Wales

1. The Peak District 

2. The Lake District 

3. Northumberland 

4. Yorkshire Dales 

5. Snowdonia 

6. Pembrokeshire Coast 

7. Brecon Beacons 

8. Exmoor 

9. Dartmoor 

10. Norfolk Broads 

11. North Yorkshire Moors 

Most National Parks are in highland areas. In some, like the Lake District and Snowdonia the scenery is largely the result of erosion by valley glaciers. In others, such as The Yorkshire Dales and The Peak District parks the presence of limestone rock has been a very big influence. 

What is a National Park?

National Parks of England and Wales defined by an Act of Parliament (1949) as: 

“areas of great natural beauty giving opportunity for open air recreation, established so that natural beauty can be preserved and enhanced, and so that the enjoyment of the scenery by the public can be promoted”

Why are National Parks being used more frequently?

1. An increase in car ownership means people are now more mobile than in the past. 

2. People now have more leisure time

3. Increase in wealth

4. Easy access

5. Longer paid holidays

What problems do people cause in National Parks?

· Over crowding

· Landuse conflict

· Erosion

· Litter

· Damage to plants and trees

· Traffic Congestion

· Pollution

What is a honeypot?

A tourist honeypot is a place, which attracts large numbers of tourists. Examples include:

Castleton, Peak District

Helvellyn, Lake District

Malham, Yorkshire Dales

Case Study = Castleton, Peak District
What might the examiner ask?

1. What is a honeypot?

2. What problems arise in honeypot areas?

3. What problems do tourists cause in National Parks?

4. Explain why conflicts usually arise in National Parks

5. How does the National Parks Authority try to reduce the impact of tourists?

6. Why do more people use National Parks?

Natural Environment

Glaciated Landscape System
	
	
	Description/Explanation

	Inputs:
	Ice Ages
	

	Processes:
	Weathering


	

	
	Erosion


	

	
	Deposition


	

	
	Freeze thaw (frost shattering)


	

	
	Abrasion


	

	
	Plucking


	

	Outputs:
	Tarn


	

	
	Corries


	

	
	U-shaped valley


	

	
	Aretes


	

	
	Pyramidal Peaks


	

	
	Ribbon Lakes


	


Which areas are glaciated? – UK

Upland areas in Scotland and Northern England. 

Glacial Erosion

Glacial erosion is PAF!

Plucking 

Abrasion

Freeze-thaw
Case Study = Helvellyn, Peak District
	What?
	Where?
	When?
	Features?
	So What?

	Helvellyn, an area of upland glacial scenery
	Lake District, north-west England.
	Formed between 100 000 and 

10 000 years ago.
	Helvellyn – Mountain

Red Tarn  & Blea Tarn – Lake/tarn & Corrie 

Striding Edge – Arete


	Impact of humans:

Conflict between tourists and other land users e.g. farmers.

Tourists – erosion & over crowding


Limestone (Karst) Scenery

	
	Rock type:
	Description/Explanation

	Inputs
	Sedimentary


	

	
	Jointed


	

	
	Calcium carbonate


	

	
	Pervious


	

	Processes
	Chemical weathering
	

	Outputs
	Swallow (sink) hole


	

	
	Stalagmites


	

	
	Stalactites


	

	
	Caverns


	

	
	Gorges


	

	
	Pavement – clints/grykes
	


Which areas contain limestone scenery?

Malham Cove, Yorkshire Dales

Castleton, Peak District

Case Study = Malham Cove, Yorkshire Dales
Case Study = Castleton, Peak District 

[TOP TIPS – Make sure you can explain the processes which lead to the formation of Glacial and Karst scenery]

What might the examiner ask?

1. Name a National Park, nature of a National Park

2. Why increased use

3. Descriptions of glaciated/limestone landscapes

4. Explanation in terms of inputs and processes

5. Explain the formation of a particular feature of glacial or karst scenery 

6. Definitions of terms

Industry and the Environment

Oil from Alaska

Where is it?

The Prudhoe Bay Oilfield is on Alaska’s northern (Arctic) coastline.

What is it like?

· People

Provides 750 000 jobs across America. 

· Climate

In winter the area has 24 hours of darkness, low temperatures. Average in January is –15 (C. Even in July it’s below 10(C.

· Vegetation/Permafrost

The soil is permafrost. This means the soil is permanently frozen to a depth of several metres. In summer when the surface layer thaws the melt water cannot drain away. Therefore the surface is very boggy and unstable. 

The sea is frozen for most of the year due to low temperatures. Even when it is not completely frozen there are many icebergs.

Description of development

· Oil discovered in 1962

· Construction work began in 1968

· Oil had to be piped over 1000 km from Prudhoe Bay in the North to Valdez in the South. 

· Oil first pumped along pipeline in 1977

· 1989 Exxon Valdez ran aground off Valdez

· Problems 

	Problems
	Solutions

	Cold might freeze the oil and stop it flowing
	Heat oil to 80(c before it enters the pipeline

	The mountains in the south are in an arctic earthquake zone
	Make pipeline flexible to move with the earth

	Construction work could destroy the frozen tundra
	Strict rules for construction teams – rewards if they do well

	Pipeline may block the Caribou migration
	Build stilts 3 metres high 


· Impact – Prudhoe Bay

	What?
	Where?
	When?
	Why?
	So What?

	Oil tanker – Exxon Valdez ran aground on rocks.
	The Alaska coast, near Valdez
	March 1989


	The tanker was 50 km off course
	Total of 12 million gallons of crude oil were spilt damaging large areas of the land and marine ecosystem of Alaska.

It contaminated 1900 km of coastline. The local wildlife and fishing industry was devastated.

The clean up operation cost $1 Billion


What might the examiner ask?

Paper 1 (Multi Choice)

Definitions e.g. 

1. Permafrost

2. Identify Alaska as an oil area on a map of the world

3. Prudhoe Bay to Valdez Pipeline

4. Specific techniques for overcoming permafrost

Paper 2 

Alaska can be a context for describing environments that make development difficult or the benefits of economic activity, impact of industry on the environment

Population and Development

Population growth

	Key Word:
	Description/Explanation

	Birth Rate


	· The number of babies born in a country  each year per 1000 of the total population

	Death Rate


	· The number of people in a country who die in  a year out of every  1000 of the total population

	Natural Increase/Growth rate


	· This is the birth rate minus the death rate (given as a percentage)


Population change through time

	
	Birth Rate
	Reason
	Death Rate
	Reason

	LEDCs
	High
	· No contraception

· Couples have many babies to compensate for the high death rate caused by poor health care

· Large families need to work in primary industries to contribute to family income

· Children look after old

· Religious reasons
	High
	· Poor medical facilities

· Disease

· Poor nutrition

· High Infant mortality



	NICs
	High/

Decreasing
	· People are used to having many children. Takes time for culture to change
	Decreasing
	· As an economy develops money becomes available for better health care 

· Housing improves

· Better childcare

	MEDCs
	Low
	· Children are expensive

· People know their children are going to survive so they can keep their families small

· Widely available contraceptives
	Low
	· Better health care

· Better standard of living


Demographic Transition

The population change model or demographic transition model attempts to explain stages of population growth.

The model is divided into 4 (possibly 5) stages 

Stage I represents a few remote groups

Stages II and III equate to less developed countries today

Stage IV equates to more developed countries

Stage V represents an area with a declining population 

[TOP TIP - Find a copy of the model. Draw it and learn to explain each stage]

Rural to urban migration is a feature of LEDC

Migration in Brazil

1. In Brazil, movements towards the South East industrial region (Sao Paulo etc) from the North East drought zone called the Caatinga.

Why?

Push Factors:

· Drought

· Poor standard of living

Pull Factors:

· Chance of a better job

· Chance of a better standard of living

· Chance of a better education

2. In Brazil, movements towards the Amazon Rainforest from the North East drought zone called the Caatinga.

Why?

Push Factors:

· Drought

· Poor standard of living

Pull Factors:

· Settlers attracted by cheap land

· Iron ore and HEP industry 

· Free plots of land offered by the Brazilian Government

What might the examiner ask?
1. Definitions BR/DR natural increase

2. Working of model

3. Characteristic stage for ELDC

4. Recognition of level of development

Ecosystems

Ecosystem

A community of plants and animals sharing an environment. The largest ecosystem units are called biomes.

Tropical Rainforest

The key idea relates to a systems approach, therefore inputs, processes and outputs of the rainforest are key here.

	
	Inputs:
	Climate of the rainforest

	
	Process:
	Awareness of plant growth:

Nutrients from the soil 

Photosynthesis

Decomposition

	
	Outputs:
	Rainforest 

Vegetation:

· Emergents

· Canopy

· Ground cover 


Where are rainforests/what are they like?

Rainforests are located 5( either side of the equator.

Climate

Hot & humid

Over 25(
Heavy rainfall most afternoons

Vegetation

Richest and most varied biome in the world.

The vegetation is in distinctive layers:

· Emergents

· Canopy

· Under Canopy

· Shrub Layer

· Ground Level

How are they affecting by people?  

	Activity
	Description
	More Sustainable
	Less Sustainable

	Shifting Cultivation 
	Farmers clear a new plot of land and grow their crops on it. After a few years, the soil loses fertility. Yields fall, and the farmers move on to new land.
	This is a sustainable form of farming. The forest is given a chance to recover.
	The population of some groups of farmers is increasing. This means the land is used more intensively, more nutrients are used and the soil has less time to recover.

	Timber Logging
	Local people have always cut the trees for building and for fuel wood. 

Large companies are now logging extensive areas of the rainforest. They are extracting wood such as mahogany, which will be exported to MEDCs around the world. 
	Some commercial timber companies replant trees in areas they have cleared. They plant species, which will be useful in the future. While this maintains forest cover is reduces biodiversity
	Logging companies have to clear large numbers of trees to allow access to areas of a few valuable trees. Thus entire areas are cleared of vegetation. 

	Commercial Farming
	Large scale farming for profit.
	Plantations for rubber in places such as Malaysia provide conservation of soil by ensuring that there is plant cover which reduces leaching (the washing away of nutrients). Local people are often employed. 
	Cattle ranching leads to large-scale removal of vegetation and exhaustion of the soil. Overgrazing eventually leads to soil erosion. The forest cannot grow back due to the extent of deforestation.


Deforestation

The deforestation of rainforests is causing problems world-wide – this includes:

· Soil Erosion

· Surface Run-off – flooding increase

· Global Warming – Reduced by TRF using carbon dioxide in photosynthesis – removing the forest means more global warming

· Destruction of natural habitats (animals as well as humans)  

· Soil infertility

Case Study = Amazon Rainforest, Brazil, South America
What might the examiner ask?

1. Where are the rainforests?

2. What are they like?

3. How do they work?

4. How does farming affect them e.g. how do farmers cause soil erosion?

Drainage Basin Systems

Water (Hydrological) Cycle

The continuous cycle of water between the sea, land and atmosphere. 

There are five main processes in the hydrological cycle, these are:

	
	Condensation
	Water vapour changes back into water (cloud formation)

	
	Evaporation
	The transfer of water from the sea and the land to the air as water vapour  

	
	Precipitation
	Any form of moisture falling from the atmosphere e.g. sleet, hail, snow, rain   

	
	Transpiration
	Transfer of water from vegetation to the air as water vapour 

	
	Surface run-off
	Water flowing over the surface of the earth, e.g. river


In the hydrological cycle water can be stored as snow and ice, in lakes, as ground water and in oceans and seas.  

Drainage Basins
A drainage basin is an area of land drained by a river and its tributaries.  

Features of a drainage basin:

	
	Water shed
	An area of high land which forms the edge of a river basin  

	
	Tributary
	A small river flowing into a large river

	
	Confluence
	The point where two rivers meet

	
	The source
	Where a river starts

	
	Mouth
	Where a river flows into (lake or sea)


Ganges/Brahmaputra river basin

[TOP TIP – Make sure you can produce a sketch map of the main features of this river basin!]

Flooding in the Ganges basin – physical factors

· Heavy monsoon rain between April and September

· Tropical cyclones over the bay of Bengal in summer and autumn

· Melting snow in the Himalayas during summer months

Flooding in the Ganges basin – human factors

· Deforestation in many parts of the river basin, e.g. Nepal, Bhutan.  This has led to increased flooding.  This is a result of

· More erosion of soil as roots no longer hold soil together

· Less take-up of water by plant roots

· Less interception of rain fall by vegetation cover

Positive impact of flooding in Ganges/Brahmaputra river basin

Regular annual flooding is essential to people who live on the flood plain of these rivers, the farming season is planned around the floods, rice is a main crop and requires large quantities of water.  Also, when the river floods it leaves behind fertile silt.  

Negative impact of flooding in Ganges/Brahmaputra river basin - Bangladesh floods

August and September 1988 

· Floods covered 80% of the land

· 7 million homes destroyed

· 25 million people made homeless

· 2379 people died

· A quarter of the rice crop was destroyed

· Thousands of kilometres of road were flooded

· Destruction of communications network meant it was impossible to deliver food and medical supplies

Solutions to flooding problem in Ganges/Brahmaputra river basin

Bangladesh Flood Action Plan (FAP) – a plan to try to control the impact of the river flooding

Main features of plan:

· 5000 flood shelters built on stilts in areas most at risk

· Improved flood forecasting system using satellite and computers

· Build dams to control river flow and hold back monsoon rain water in reservoirs

· Complete and strengthen embankments along the main river channels to a height of up to seven metres

Case Study = Ganges/Brahmaputra River

[TOP TIP – Make sure you can explain the way people’s actions in one place (Nepal) can affect people living in another place (Bangladesh)!]
What might the examiner ask?
1. Give a definition of a keyword e.g. confluence 

2. Cause of flooding?

3. Impact of Flooding? 

4. For an area you have studied, what was the cause of flooding?

Agriculture
Farming as a system of Inputs, Processes and Outputs

	
	Inputs
	Labour, land, capital, seeds, climate, soil, relief, machinery, fertilisers, water

	
	Processes
	Ploughing, spraying, weeding, harvesting, sowing, milking, feeding, irrigation

	
	Outputs
	Crops, pollution, agricultural waste, profits, meat, wool, lambs, calves


Types of Agriculture

	
	Arable
	Growing crops

	
	Pastoral
	Rearing animals

	
	Mixed
	Growing crops and rearing animals

	
	
	

	
	Subsistence
	Producing just enough for your own and your families consumption

	
	Commercial
	Producing enough to sell to make a profit

	
	
	

	
	Nomadic
	Moving from one place to another especially with herds of animals

	
	Sedentary
	Farming in one place

	
	
	

	
	Intensive
	High levels of input into a small area producing high yields

	
	Extensive
	Low inputs over a large area providing low yields


Farming can be a mixture of these types of Agriculture.  For example, the Massai cattle herders in Kenya are both subsistence and nomadic farmers.  

World Distribution of Rice Farming

Most of the world’s rice is grown in South and South East Asia.  

Ideal rice growing conditions:

· Growing season five months with temperatures above 21 (C 

· Annual rainfall over 2000 mm

· Flat land to allow water to stay on the fields

· Impermeable soil so water will not drain away

The flood plains of great rivers in South and East Asia provide these conditions.  Where rainfall is not high enough the rivers provide irrigation water.  

Green Revolution

By the 1960s an increase in population and subsistence farming in LEDCs meant it was essential to increase food production.  

The Green Revolution:

· Introduced new farming methods to LEDCs in the 1960s

· It was an attempt to increase food production via intensive farming

· New high yielding varieties (HYVs) were developed; these were genetically engineered seeds  

· Used machinery to plough fields 

· Set up irrigation schemes and projects

Successes and Failures of the Green Revolution:

	
	Successes
	Failures

	
	· Yields increased

· Farmers had a better standard of living

· New industries making fertilisers developed in rural areas
	· Many farmers can not afford machinery and fertilisers required

· Machinery increases rural unemployment

· Rural to urban migration increased

· Increased yields make prices fall

· Farmers become poorer


Common Agricultural Policy

The Common Agricultural Policy (CAP) governs farming in all countries in the EU.  After World War II Europe wanted to be agriculturally self-sufficient.  Therefore, farmers were guaranteed a price for their crops regardless of market forces.  This protected the farmers from cheap imports from abroad.  EU farmers ended up producing too much food; this led to food mountains.  

Set-aside

Set-aside is a scheme by which the EU pays farmers a subsidy to leave land uncultivated to reduce overall production.  In order to continue receiving EU subsidies all farms with over 20 hectares of land must now leave 15 % of it as set-aside.  

Farming and the Environment

Desertification

Desertification is when a desert gradually spreads to the surrounding areas of semi-desert.  

Desertification in the Sahel

The Sahel is located in the southern region of the Sahara desert, Africa.   It is an area which is experiencing desertification.  The reason for desertification in the Sahel

Human factors

	Increase in population
	(
	Increase in cattle

	(
	
	(

	Deforestation for fire wood
	
	Grassland grazed more intensively, roots may be eaten as well as grass

	(
	
	(

	Roots no longer hold soil together, leaves no longer protect soil from wind and rain
	
	Less vegetation means less protection from winds and rainfall

	(
	
	(

	Loose top soil blown away by wind or eroded by rainfall
	
	Loose top soil blown away by wind or eroded by rainfall

	(
	
	(

	Desertification
	
	Desertification


Natural factors

Reduction of rainfall

Farming and soil erosion

Farming practices which cause soil erosion:

	
	Problems
	Description
	Solution

	
	Overgrazing
	Too many animals are kept on an area of land, vegetation cover is removed, wind and rain erode the soil
	Rotate animals on different fields.  

	
	Deforestation
	Farmers remove woodlands and hedgerows.  Less protection from the wind and rain lead to increase in erosion.  
	Afforestation – planting trees.  

	
	Up and down ploughing
	This is when farmers plough up and down hills. Rainfall flows down furrows removing top soil.  
	Farmers should plough following contours.  

	
	Soil exhaustion
	Too many crops are grown on the same area of land.  Nutrients are exhausted.  Vegetation will no longer grow.  Soil exposed to wind and rain.  
	Crop rotation – farmers should grow different crops from year to year.  Fields should be taken out of production to allow the recovery of nutrients.  


Rice Farming Case Study = Punjab Region of India
Desertification Case Study = Sahel, Sahara Desert, Africa

Soil Erosion Case Study = East Anglia

Soil Erosion Case Study = Nepal
What might the examiner ask?
1. Where is rice grown?

2. Rice farming as a system

3. What are the human causes of soil erosion/desertification

4. How can the risk of soil erosion/desertification be reduced?

5. How can farming affect the environment

6. What are the main features of the Cap

7. What problems did the CAP cause for the environment?

8. What is Set-aside?

9. How did the CAP cause Food Mountains?

Tectonics

Structure of the earth

The earth is split into 4 main sections:

Inner Core – Centre of the earth

Outer Core

Mantel

Crust

Tectonic Plates

The earth’s crust is divided into 12 large sections called tectonic plates. 

There are two types of plates – continental and oceanic. Continental plates contain the world’s landmasses. They are older, lighter and thicker than oceanic plates.  

Plates move as a result of convection currents in the mantel. 

Plate margins

	Margin
	Description
	Hazard or feature
	Example
	Case Study

	Destructive
	Where an oceanic plate moves towards a continental plate. Because the oceanic plate is heavier it subducts under the continental plate.
	Volcanoes and earthquakes. 

Fold mountains.
	Pacific plate, Philippines plate & Eurasian plate
	Kobe Earthquake

Eruption of Mount Pinatubo



	Conservative
	Where two plates slide past each other.
	Earthquakes
	Juan de Fuca Plate & North American Plate
	California Earthquake

	Collision
	Where two continental plates move towards each other.
	Fold mountains
	Indo-Australian plate & Eurasian Plate

 
	Construction of the Himalayan Mountains 

	Constructive
	Where two plate move away from each other.
	Volcanoes and earthquakes
	Eurasian & North American Plate
	Formation of Iceland and West Indies etc


[TOP TIP - Make sure you can sketch, label and describe each of these boundaries]

Earthquake/Volcano distribution

Earthquakes and volcanoes occur along plate boundaries. Over half of the world’s volcanoes and earthquakes occur along the Pacific Ring of Fire. This is a destructive plate margin running around the rim of the Pacific Ocean.

Earthquakes: Kobe

	What?
	Where?
	When?
	Why?
	So What?

	Earthquake measuring 7.2 on the Richter Scale. The earthquake lasted 20 seconds
	Epicentre

 Was under Awaji Island in Osaka Bay, close to the port city of Kobe, Japan
	17th Jan 1995 at 5.46am
	Located on a destructive plate margin. Pacific Plate and the Eurasian Plate
	250 000 people left homeless

5000 people died…mostly as a result of fires caused by ruptured gas mains

25 000 injured

Older buildings were worst hit. 

Total cost est. $100 billion


Earthquakes: California

	What?
	Where?
	When?
	Why?
	So What?

	Earthquake measuring 6.9 on the Richter Scale. 
	San Francisco,

California, USA
	17th October 1989 at 5.04pm


	Located on a conservative plate margin. Juan de Fuca Plate & North American Plate
	2 000 people left homeless

67 people died

3 000 injured

Older buildings were worst hit. 

Total cost est. over $7 billion


Consequences: how they respond

In rich countries (MEDCs) like Japan planners attempt to reduce the impact of earthquakes by including seismic isolators in their buildings. Gas mains can be cut off immediately. People participate in earthquake drills once a year. This is damage limitation. 

In LEDCs they cannot afford to take such measures. This is one reason why the impact of earthquakes in LEDCs is greater.

What might the examiner ask?
1. What is crustal instability?

2. What causes plate movement?

3. Describe a particular plate with the aid of drawings

4. What effect – earthquake/volcano?

5. Why earthquakes occur in Japan/California

6. How do countries respond to earthquakes?

Tropical Storms

Names

Tropical storms are also known as:

	Hurricanes
	North Atlantic

	Typhoons
	Pacific

	Tropical Cyclones
	South East Asia

	Willy-Willies
	Australia


Conditions required for formation:

· Over Oceans

· Ocean temperature over 27(c

· Water heated to a depth of several metres 

· Close to the East Coast of continents

· Late summer or early Autumn, when sea temperatures are at their highest (noticed how hurricanes always hit America around September/October!)

Causes of tropical storms

· Air on surface of ocean is heated (it also contains lots of moisture)

· Hot, humid air rises, cools and condenses. Clouds form.

· Rising air creates low pressure. Air rushes in to fill gap left by rising air.

· Rotation of the earth means winds do not blow straight. Winds circle towards the centre.

· The storm continues to feed itself.

· Whole system moves westwards towards land.

· When the system crosses the land it losses its source of heat and moisture. The tropical storm losses its energy and dies out.

Managing the effects of tropical storms

Reducing the effects of tropical storms includes:

· Studying tropical storms once they form

· Providing an early warning system

· Long-term planning in areas prone to tropical storms
Case Study

You will have to know at least one case study about tropical storms. If you can learn two, one in an LEDC (e.g. Mozambique or Bangladesh) and one in an MEDC (e.g. one in America – Hurricane Andrew)

Make sure you know why tropical storms cause more problems in MEDCs than LEDCs. 

What might the examiner ask?

1. What causes tropical storms?

2. How do they affect people?
Settlement
Landuse models

Landuse models are simplified maps showing different land uses within a city.

Landuse models - MEDCs:

Sketch a land use model (Burgess Model) for a city in an MEDC below (include a key):

Landuse models - LEDCs

Sketch a land use model for a city in an LEDC below (include a key):

Patterns of landuse in different cities – For Hull, Paris and Sao Paulo you need to know:

Where the CBD is

Where the industrial areas are

The Different types of residential areas

The main features of each land use

[TOP TIP – Make sure you can sketch a landuse map of an EU city (Paris), UK city and an LEDC city to show concentration of land uses & that you can compare and contrast the different land use patterns]

What might the examiner ask?

1. How do land uses concentrate?

2. Where are land uses found?

3. Are patterns different in different cities?

4. Describe/Explain different patterns of landuse

Why do cities grow?

Urbanisation is the increase in the proportion of people living in towns and cities.

MEDCs

MEDCs have high levels of urbanisation. This is because they have industrialised. The movement of people from rural to urban areas followed the industrial revolution when there was a great demand for people to work in the factories that developed.

It took place throughout the 19th and Early 20th Centuries in Europe and North America. By 1950 most of the people in these two continents lived in urban areas. Urbanisation has not slowed in most MEDCs. In fact many large urban areas are now experiencing counter-urbanisation (movement of people out of town and cities). This is happening because:

· People are now more mobile than in the past so they can live further away from work

· Developments such as the fax and Email means more people can work from home

LEDCs

Since 1950 urbanisation has taken place mainly in LEDCs. This is mainly the result of push and pull factors:

Pull

· The greater opportunities to find work

· Better education

· Better health care

· Entertainment

Push

· Drought

· Famine

· Civil war

· Lack of opportunity

· Mechanisation

Shanty Towns/Favelas (Brazil)/Bustees (India)/Barrios (Mexico)

Location:

· The edge of cities in LEDCs (e.g. Sao Paulo)

Reason:

· Only area of open space

· Close to industry

Main features:

· Poor living conditions

· High population densities

· Illness and disease are common

· Waste and rubbish is dumped in the streets

· Poverty

· Many people do not have jobs

· Built out of scrap materials e.g. wood, corrugated iron, etc

How can local authorities help?

Self help Schemes – Sao Paulo:

· Local authorities provide building materials e.g. wood and breeze blocks; local residents provide labour supply

· Local authorities provide basic services (e.g. water, electricity and sewerage system) with the money saved

 However, Local Authorities cannot keep up with the levels of rural to urban migration. Also, there is not enough money available for even the basic needs of the millions who have already migrated to these areas.

Million Cities

Urbanisation in LEDCs has led to an increase in million or millionaire cities (cities with a population of +1 million inhabitants.

What might the examiner ask?

1. Compare pattern of land use in an LEDC with MEDC

2. Describe the problems caused by rapid urbanisation in a named city

3. How does the EU help in urban redevelopment?

4. Describe the main features of shantytown.

5. Describe the growth of an urban area in an LEDC, which you have studied.

6. Explain the growth of an urban area in an LEDC, which you have studied.

Migration

Types of migration:

	
	Immigration
	Moving into another country

	
	Emigration
	Moving out of a country

	
	international
	Moving from one country to another

	
	Voluntary
	Moving by choice

	
	Forced
	Having to move – reasons could include: war, famine, natural disaster, political asylum

	
	Temporary/seasonal
	Moving for a short period of time

	
	Rural to urban
	Moving from the countryside to the city

	
	Urban to rural
	Moving from the city to the countryside


Push Factors:
This is when people are forced to move.

Pull Factors:

This is when people choose to move.

Migration case studies which you need to know:

Turks into Germany

Commonwealth Immigrants into the UK

What might the examiner ask?

1. Why do ethnic populations congregate together?

2. Why do ethnic populations congregate in the inner city?

3. What problems do ethnic populations experience?

4. Why have ethnic groups moved into a particular place?

5. What benefits do ethnic groups bring?

[image: image8.png]S
caB888583833888

T
— Pmary
— secondary
e
—
=
o0 e Tam e o0 o 1900

Year




By now you should have revised your notes thoroughly. Now, you need to start testing your knowledge and applying it to exam questions. Before this, make sure you understand the command and key words used in exam questions.

Key words and command words

A comprehensive list of key words can be found at GeoNet:

http://www.bennett.karoo.net
You will also find a range of key words sheets that allow you to match the key words to their definitions. 

Landuse 

The term land use refers to ‘what the land is used for’. Exam questions, particularly those that are based on using a map, often ask about land use e.g. what is the main landuse in grid square 4156.

Types of land use on OS maps include:

	
	Residential
	- housing

	
	Forestry
	- trees

	
	Agriculture
	- farming

	
	Industry
	- factories etc

	
	Leisure/recreation/sport
	- golf courses, etc 


Command Words
When completing your GCSE Geography exam you must read the question carefully and answer it in the right way to make sure that you get as many marks as possible. Always use geographical terms in your answers e.g. compass directions, use the scale of the map, give grid references.

Here are some of the command words that you may be given:

Annotate - add notes or labels to a map or diagram to explain what it shows.

Compare - look for ways in which features or places are similar or different. e.g. a city in an LEDC compared to a MEDC

Complete - add to a map or graph to finish it off.

Contrast - look for the differences between features or places. Often the question will ask you to compare and contrast.

Define - explain what something means e.g. freeze-thaw.

Describe - give details about what a map or diagram shows.

Discuss - usually wants a long answer, describing and giving reasons for or explaining arguments for and against.

Draw - a sketch map or diagram with labels to explain something.

Explain or account for - give reasons for the location or appearance of something.

Factors - reasons for the location of something such as a factory.

Give your ( or somebody else’s) views- say what you or a particular group think about something , for example should limestone quarries be allowed in the Peak District.

Identify - name, locate, recognise or select a particular feature or features, usually from a map, photo or diagram.

Mark - put onto a map or diagram.

Name, state, list - give accurate details or features.

Study - look carefully at a map, photo, table, diagram etc. and say what it shows.

With reference to /refer to examples you have studied - give specific details about your case studies.

With the help of/using the information provided - make sure you include examples from the information, including grid references if it is a map.

Ask your teacher for past exam papers to practice your exam technique. You can also complete the exam questions on GeoNet. There is a mark scheme included so you can mark your answers once you have completed them. The address is:

http://www.bennett.karoo.net/gcse/revision.html

Before you start revising complete the revision audit below. It will help you prioritise the areas you need to revise.
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